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1. Find a Jordan canonical form for A, where (A — 3I) has nullity 2, (A — 37)? has nullity 3,
(A — 31)? has nullity 4, (A — 31)* has nullity 5 for k& > 4; (A + I)* has nullity 1 for k£ > 1;
(A — 21) has nullity 2, (A — 27)? has nullity 4 for k& > 2.

Answer:
(A — 31) has nullity 2,
(A — 3I)? has nullity 3, N (A—3I): er— 0
(A — 31)3 has nullity 4, €5 — €4 —> €3 — €5 — 0
(A — 31)* has nullity 5 for k > 4

(A+ DX has nullity 1 for k>1 = (A+1): é& —0

(A — 21) has nullity 2, (A—=2I): és—éer—0

(A — 2I)? has nullity 4 for k > 2 = €9 — €10 — 0
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2. Mark all the matrix if it is a Jordan Canonical form and boxed all the Jordan blocks in it.

Yes// No (a)

O O W
o O W =

ol oo
N o o o

page 1 ofE


Jean Yeh

Jean Yeh

Jean Yeh


BB —4RIEHE

Quiz 14

SOLUTION

1 10]0
01 1[0

00 10

000/

(b)

Yes| / No

1 1
coolo] eeco@ oo ~ X!
S - ol Do Mo o 4w o
— o ol Q@Jo 2 4 .« oo
OOOO__m_OOO__ZOOO_

) = )
~— ~— N,
o o

Z. Z. M
~ ~

W ” —~
O O 2
o~ N e

page 2 of E


Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh

Jean Yeh


